2.5 Postulates and Paragraph Proofs
Geometry
Define Postulate/Axiom:
Draw a diagram for each postulate.  Label all portions of your diagram correctly.
Postulate 2.1: Through any two points, there is exactly one line.

Postulate 2.2: Through any three points not on the same line, there is exactly one plane.

Postulate 2.3: A line contains at least two points.
Postulate 2.4: A plane contains at least three points not on the same line.

Postulate 2.5: If two points lie in a plane, then the entire line containing those points lies in that plane.

Postulate 2.6: If two lines intersect, then their intersection is exactly one point.

Postulate 2.7: If two planes intersect, then their intersection is a line.

Example 1: Some snow crystals are shaped like regular hexagons.  How many lines must be drawn to interconnect all vertices of a hexagonal snow crystal?

Example 2: Determine whether each statement is always, sometimes, or never true. Explain.


A.  If plane T contains 
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contains point G, then plane T contains point G. 


B.  For 
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, if X lies in plane Q and Y lies in plane R, then plane Q intersects plane R.

C.  
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 contains three noncolliear points.


D.  If points A, B, and C lie in plane M, then they are collinear.
Paragraph Proofs:
Theorem:
Proof:
Paragraph Proof: also called an ____________________________________

Five essentials parts of a good proof (from the book):
· _______________________________________________________________________________________

· _______________________________________________________________________________________

· _______________________________________________________________________________________
· _______________________________________________________________________________________

· _______________________________________________________________________________________

Mr. Brown’s helpful hints to completing a proof:
· _______________________________________________________________________________________
· _______________________________________________________________________________________

· _______________________________________________________________________________________

· _______________________________________________________________________________________

· _______________________________________________________________________________________

Example 3:  Given that M is the midpoint of
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, write a paragraph proof to show that
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Given:
 _____________________________________________________________________________

Prove:
 _____________________________________________________________________________

From the definition of ______________________ of a segment, __________________.  This means 
that _______ and ______ have the same ____________________.  By the definition of 
______________________, if two segments have the __________________________________, then they are congruent.  Thus, _________________________.

Example 4:  Given that
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, and C is between A and B, write a paragraph proof to show that C is the midpoint of
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Given: _____________________________________________________________________________

Prove: _____________________________________________________________________________

It is ___________ that __________________.  From the definition of ___________________________, 


______________.  By the ____________________ of ___________________, C is the midpoint of 
_____________.

Example 5:  Given 
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intersects
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, write a paragraph proof to show that A, C, and D determine a plane.


Given: _____________________________________________________________________________

Prove: _____________________________________________________________________________
_____________ and ___________ must intersect at C because if two line intersect, then ____________ _______________________________________________________.  Point _____ is _______________ ________________ and point _____ is _________________.  Points ____________________________ are _____________________________. Therefore, ______________ is a ______________ as it contains three _____________ not ____________________________________________.

Example 6:  In the figure at the right, A is the midpoint of 
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 Write a paragraph proof to show that 
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Given: _____________________________________________________________________________

Prove:  _____________________________________________________________________________
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